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10.

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
What are therbligs?
What is meant by ergonomics?
What are the objectives of process planning?
What is sequencing?
Why costing is essential to industrial control?
Differentiate between estimation and costing.
Describe the various.constituents of estimation.
What do you understand by prime cost?
‘What is meant by fatigue allowance?

A Manufacturing plant produces 2100 machines per year. If the total on — costs
during that year are Rs.63,00,000, calculate the overhead cost for each
machine.
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PART B — (5 x 16 = 80 marks)

(1) Describe the detailed procedure involved in method study. State its

objectives. (10)

(i)  Briefly discuss principles of motion economy. (6)
Or

i)  Define work study and state clearly its uses in industry. (6)

(il) Explain the step by step procedure involved in time study and the
types of allowances to be considered in calculating the standard
time. (10)

What do you understand by process planning? Explain in detail the role
of process planning in product development. What are its benefits? (186)

Or
Explain the criteria of selecting operating sequences and machine
selection in process planning. . (16)
(i)  State and explain objectives of cost estimation. 8)
(i)  Briefly discuss the most commonly used methods of costing. 8)
Or
Elaborate the classification and elements of the costs. (16)
Explain various methods of estimates. (16)
Or
(i) Brieﬂy‘explain about data requirements for cost estimating. (10)

(i) Discuss the various allowances to be considered while making cost
estimation. 6]

A certain piece of work is prodﬁced by a firm in batches of 100. The direct
materials cost for that 100 piece work is Rs. 1600 and the direct labour
cost is Rs. 400. Factory on cost is 35% of the total material and labour
cost. Overhead charges are 20% of the factory cost. Calculate the prime
cost and factory cost. If the management wants to make a profit of 10%
on the gross cost, determine the selling price of each article. 186)

Or
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150 pieces of shafts as shown in fig (1) are to be drop forged from
the raw stock of 2 cm diameter. Estimate the cost incurred.
Assuming the material cost is Rs. 52 per meter. Cost of forging is
Rs. 250. per square meter of surface area to be forged. Overhead
expenses to be 100% of the cost of the forging. Consider all losses.
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Fig. (1)

All dimensions are in mm.
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